On the monotonicity of Schurer type polynomials

CARMEN MURARU

ABSTRACT. The paper is a study of a sequence of Schurer type operators. It deduces a representation for the difference of two consecutive terms of the sequence of this type operators, by divided differences. Using this representation we enounces some sufficient conditions for the monotonicity of the sequence of Schurer operators.

1. PRELIMINARIES

In 1962 Schurer [5] considered and studied the following operators named Schurer operators:

$$\widetilde{B}_{m,p}: C([0,1+p]) \to C([0,1])$$

defined by:

(1.1)
$$(\widetilde{B}_{m,p}f)(x) = \sum_{k=0}^{m+p} \widetilde{p}_{m,k}(x)f\left(\frac{k}{m}\right),$$

where $\widetilde{p}_{m,k}(x)=\binom{m+p}{k}x^k(1-x)^{m+p-k}$ are the fundamental Schurer polynomials (see [1], [6]), $m\in\mathbb{N}$ and $p\in\mathbb{N}_0$ a given integer.

Note that for p=0, the operator at (1.1) reduces to the well known Bernstein operators B_m .

The aims's paper is to study the monotonicity of the sequence $(\widetilde{B}_{m,p}f)$. So we shall establish a useful formula for the difference of two consecutive terms of the Schurer polynomials, formula based on divided differences of order 1 and 2.

We will use the properties of the Schurer operator, contained in the following

Theorem 1.1. Let $e_i(x) = x^i$ (i = 0, 1, 2) be test function. The following equalities:

(i)
$$(\widetilde{B}_{m,p}e_0)(x) = 1$$
;

(ii)
$$(\widetilde{B}_{m,p}e_1)(x) = \left(1 + \frac{p}{m}\right);$$

(iii)
$$(\widetilde{B}_{m,p}e_1)(x) = (m+p)m^{-2}((m+p)x^2 + x(1-x)),$$

hold, for any $x \in [0, 1 + p]$.

Conform to Korovkin's first theorem it was proved that for $f \in C([0, 1 + p])$ the sequence of the polynomial (1.1) converges uniformly to f on [0, 1].

Received: 20.09.2005; In revised form: 28.10.2005 2000 Mathematics Subject Classification: 41A36.

Key words and phrases: Linear positive operators, Schurer operators.

For this type of operators let's remind the corresponding order of approximation by using the modulus of continuity of f by:

$$\left| (\widetilde{B}_{m,p}f)(x) - f(x) \right| \le 2\omega_f(\delta_{m,p,x}),$$

where $\delta_{m,p,x} = \sqrt{p^2x^2 + (m+p)x(1-x)/m}$. We have the following result:

Theorem 1.2. The difference between the polynomials $(\widetilde{B}_{m+1,p}f)(x)$ and $(\widetilde{B}_{m,p}f)(x)$ can be expressed under the form:

$$\begin{split} &(\widetilde{B}_{m+1,p}f)(x) - (\widetilde{B}_{m,p}f)(x) = \\ &= -\frac{(m+p)x(1-x)}{m(m+1)} \sum_{k=0}^{m+p-1} \binom{m+p-1}{k} \left(\frac{1}{m} \left[\frac{k}{m}, \frac{k+1}{m+1}, \frac{k+1}{m}; f\right] + \\ &+ \frac{p}{m+p-k} \left[\frac{k}{m}, \frac{k+1}{m+1}; f\right] \right) \cdot \\ &\cdot x^k (1-x)^{m+p+1-k} + x^{m+p+1} \left(f\left(\frac{m+p+1}{m+1}\right) - f\left(\frac{m+p}{m}\right) \right). \end{split}$$

Proof. Let's note n = m + p and we have m = n - p. Now we have

$$(\widetilde{B}_{n-p,p}f)(x) = \sum_{k=0}^{n} \binom{n}{k} x^{k} (1-x)^{n-k} f\left(\frac{k}{n-p}\right)$$

$$(\widetilde{B}_{n-p+1,p}f)(x) = \sum_{k=0}^{n+1} \binom{n+1}{k} x^{k} (1-x)^{n+1-k} f\left(\frac{k}{n+1-p}\right)$$

$$(\widetilde{B}_{n-p+1,p}f)(x) = \sum_{k=1}^{n} \binom{n+1}{k} x^{k} (1-x)^{n+1-k} f\left(\frac{k}{n+1-p}\right) + (1-x)^{n+1} f(0) + x^{n+1} f\left(\frac{n+1}{n+1-p}\right)$$

$$(\widetilde{B}_{n-p,p}f)(x) = \sum_{k=0}^{n} x \binom{n}{k} x^{k} (1-x)^{n-k} f\left(\frac{k}{n-p}\right) + \sum_{k=0}^{n} (1-x) \binom{n}{k} x^{k} (1-x)^{n-k} f\left(\frac{k}{n-p}\right)$$

we make the change i = k + 1 and then keep index by k we have:

(1.2)
$$(\widetilde{B}_{n-p,p}f)(x) = \sum_{k=1}^{n+1} x \binom{n}{k-1} x^{k-1} (1-x)^{n+1-k} f\left(\frac{k-1}{n-p}\right) +$$

$$+ \sum_{k=0}^{n} (1-x) \binom{n}{k} x^{k} (1-x)^{n-k} f\left(\frac{k}{n-p}\right) =$$

$$= \sum_{k=1}^{n} x \binom{n}{k-1} x^{k-1} (1-x)^{n+1-k} f\left(\frac{k-1}{n-p}\right) + x^{n+1} f\left(\frac{n}{n-p}\right) +$$

$$\begin{split} &+\sum_{k=1}^{n}(1-x)\binom{n}{k}x^{k}(1-x)^{n-k}f\left(\frac{k}{n-p}\right)+(1-x)^{n+1}f(0)=\\ &=\sum_{k=1}^{n}\left(\binom{n}{k-1}x^{k}(1-x)^{n-k+1}f\left(\frac{k-1}{n-p}\right)+\binom{n}{k}x^{k}(1-x)^{n-k+1}f\left(\frac{k}{n-p}\right)\right)+\\ &+x^{n+1}f\left(\frac{n}{n-p}\right)+(1-x)^{n+1}f(0). \end{split}$$

$$(1.3) \quad (\widetilde{B}_{n-p+1,p}f)(x) - (\widetilde{B}_{n-p,p}f)(x) = \\ = \sum_{k=1}^{n} \left(\binom{n+1}{k} x^{k} (1-x)^{n+1-k} f\left(\frac{k}{n+1-p}\right) - \\ - \binom{n}{k-1} x^{k} (1-x)^{n-k+1} f\left(\frac{k-1}{n-p}\right) + \\ + \sum_{k=1}^{n} \binom{n}{k} x^{k} (1-x)^{n-k+1} f\left(\frac{k}{n-p}\right) + (1-x)^{n+1} f(0) + \\ + x^{n+1} f\left(\frac{n+1}{n+1-p}\right) - x^{n+1} f\left(\frac{n}{n-p}\right) - (1-x)^{n+1} f(0) = \\ = \sum_{k=1}^{n} \left(\binom{n+1}{k} x^{k} (1-x)^{n+1-k} f\left(\frac{k}{n+1-p}\right) - \\ - \binom{n}{k-1} x^{k} (1-x)^{n-k+1} f\left(\frac{k-1}{n-p}\right) - \\ - \sum_{k=1}^{n} \binom{n}{k} x^{k} (1-x)^{n-k+1} f\left(\frac{k}{n-p}\right) + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right) \right) = \\ = \sum_{k=1}^{n} \left(\frac{n+1}{n+1-k} \binom{n}{k} f\left(\frac{k}{n+1-p}\right) - \frac{k}{n+1-k} \binom{n}{k} f\left(\frac{k-1}{n-p}\right) - \\ - \binom{n}{k} f\left(\frac{k}{n-p}\right) \right) x^{k} (1-x)^{n-k+1} + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right) \right) = \\ = \sum_{k=1}^{n} \binom{n}{k} \left(f\left(\frac{k}{n-p}\right) + \frac{k}{n+1-k} f\left(\frac{k-1}{n-p}\right) - \\ - \frac{n+1}{n+1-k} f\left(\frac{k}{n+1-p}\right) \right) x^{k} (1-x)^{n-k+1} + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right) \right).$$

We used the identities:

$$\binom{n}{k-1} = \frac{k}{n+1-k} \binom{n}{k}, \ \binom{n+1}{k} = \frac{n+1}{n+1-k} \binom{n}{k}.$$

We make the change k = j + 1 and then denote again index by k:

$$(1.4) \quad (\widetilde{B}_{n-p+1,p}f)(x) - (\widetilde{B}_{n-p,p}f)(x) = \\ = \sum_{k=0}^{n} \binom{n}{k+1} \left(f\left(\frac{k+1}{n-p}\right) + \frac{k+1}{n-k} f\left(\frac{k}{n-p}\right) - \frac{n+1}{n-k} f\left(\frac{k+1}{n+1-p}\right) \right) \cdot \\ \cdot x^{k+1} (1-x)^{n-k} + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right) \right) = \\ = -x(1-x) \sum_{k=0}^{n-1} \binom{n-1}{k} \left(\frac{n}{k+1} f\left(\frac{k+1}{n-p}\right) + \frac{n}{n-k} f\left(\frac{k}{n-p}\right) - \\ - \frac{n(n+1)}{(k+1)(n-k)} f\left(\frac{k+1}{n+1-p}\right) \right) x^{k} (1-x)^{n-k-1} + \\ + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right) \right)$$

since

$$\binom{n}{k+1} = \frac{n}{k+1} \binom{n-1}{k}.$$

But

$$\frac{n(n+1)}{(k+1)(n-k)} f(\frac{k+1}{n+1-p}) = n \left(\frac{1}{k+1} + \frac{1}{n-k}\right) f\left(\frac{k+1}{n+1-p}\right)$$

so we can write now:

$$\frac{n}{k+1}f\left(\frac{k+1}{n-p}\right) + \frac{n}{n-k}f\left(\frac{k}{n-p}\right) - \frac{n(n+1)}{(k+1)(n-k)}f\left(\frac{k+1}{n+1-p}\right) =$$

$$= \frac{n}{k+1}f\left(\frac{k+1}{n-p}\right) + \frac{n}{n-k}f\left(\frac{k}{n-p}\right) - \frac{n}{k+1}f\left(\frac{k+1}{n+1-p}\right) -$$

$$- \frac{n}{n-k}f\left(\frac{k+1}{n+1-p}\right) = \frac{n}{k+1}\left(f\left(\frac{k+1}{n-p}\right) - f\left(\frac{k+1}{n+1-p}\right)\right) +$$

$$+ \frac{n}{n-k}\left(f\left(\frac{k}{n-p}\right) - f\left(\frac{k+1}{n+1-p}\right)\right) =$$

$$= \frac{n}{k+1} \cdot \frac{k+1}{(n-p)(n+1-p)} \left[\frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f\right] +$$

$$+ \frac{k-n+p}{(n-p)(n+1-p)} \cdot \frac{n}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f\right] =$$

$$= \frac{n}{(n-p)(n+1-p)} \left[\frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f\right] +$$

$$+ \frac{k-n+p}{(n-p)(n+1-p)} \cdot \frac{n}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f\right] =$$

$$= \frac{n}{(n-p)(n+1-p)} \left(\left[\frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f\right] + \frac{n-k-p}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f\right] =$$

$$= \frac{n}{(n-p)(n+1-p)} \left(\left[\frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f\right] + \frac{n-k-p}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f\right] =$$

$$= \frac{n}{(n-p)(n+1-p)} \left(\left[\frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f \right] - \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f \right] + \frac{p}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f \right] \right) =$$

$$= \frac{n}{(n-p)(n+1-p)} \left(\frac{1}{n-p} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f \right] + \frac{p}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f \right] \right).$$

The difference (1.4) become now:

$$(1.5) \qquad (\widetilde{B}_{n-p+1,p}f)(x) - (\widetilde{B}_{n-p,p}f)(x) = \\ = -\frac{nx(1-x)}{(n-p)(n+1-p)} \sum_{k=0}^{n-1} \binom{n-1}{k} \left(\frac{1}{n-p} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}, \frac{k+1}{n-p}; f\right] + \\ + \frac{p}{n-k} \left[\frac{k}{n-p}, \frac{k+1}{n+1-p}; f\right] \right) x^k (1-x)^{n-k+1} + \\ + x^{n+1} \left(f\left(\frac{n+1}{n+1-p}\right) - f\left(\frac{n}{n-p}\right)\right).$$

In final, replacing in (1.5) m = n - p we have

$$(1.6) \qquad (\widetilde{B}_{m+1,p}f)(x) - (\widetilde{B}_{m,p}f)(x) =$$

$$= -\frac{(m+p)x(1-x)}{m(m+1)} \sum_{k=0}^{m+p-1} {m+p-1 \choose k} \left(\frac{1}{m} \left[\frac{k}{m}, \frac{k+1}{m+1}, \frac{k+1}{m}; f\right] +$$

$$+ \frac{p}{m+p-k} \left[\frac{k}{m}, \frac{k+1}{m+1}; f\right] \right) x^k (1-x)^{m+p-k+1} +$$

$$+ x^{m+p+1} \left(f\left(\frac{m+p+1}{m+1}\right) - f\left(\frac{m+p}{m}\right)\right).$$

2. CONDITIONS TO ENSURE THE MONOTONICITY

We give the following definition of higher-order convex function:

Definition 2.1. [6] A real-valued function on an interval E is called convex of order n on E if all its differences of order n+1, on n+2 distinct points of E, are positive. The function f is said to be non-concave of order n on the interval E is all divided differences of order n+1, on any n+2 points of E, are non-negative.

We reconsidered the difference (1.6) we have:

(2.7)
$$(\widetilde{B}_{m+1,p}f)(x) - (\widetilde{B}_{m,p}f)(x) =$$

$$= -\frac{(m+p)x(1-x)}{m(m+1)} \sum_{k=0}^{m+p-1} {m+p-1 \choose k} \left(\frac{1}{m} \left[\frac{k}{m}, \frac{k+1}{m+1}, \frac{k+1}{m}; f\right] +$$

$$\begin{array}{c} \operatorname{Carmen\ Muraru} \\ + \frac{p}{m+p-k} \left[\frac{k}{m}, \frac{k+1}{m+1}; f \right] \left) x^k (1-x)^{m+p-k+1} - \\ - x^{m+p+1} \left(f \left(\frac{m+p}{m} \right) - f \left(\frac{m+p+1}{m+1} \right) \right) \end{array}$$

Since on the interval [0,1] we have all the terms of difference (1.6) positive, from the Definition 2.1 there follows:

Theorem 2.3. If the function is convex of first order on the interval [0, 1+p] and increasing on (0, 1+p) then the sequence $(\widetilde{B}_{m,p}f)(x)$ is decreasing on (0, 1+p), that is $(\widetilde{B}_{m+1,p}f)(x) < (\widetilde{B}_{m,p}f)(x)$ on (0,1+p) for n=1,2,...

We notice that for p = 0 our result becomes:

$$(\widetilde{B}_{m+1,0}f)(x) - (\widetilde{B}_{m,0}f)(x) =$$

$$= -\frac{x(x-1)}{m(m+1)} \sum_{k=0}^{m-1} {m-1 \choose k} \left[\frac{k}{m}, \frac{k+1}{m+1}, \frac{k+1}{m}; f \right] x^k (1-x)^{m-k+1}$$

formula who was established by D. D. Stancu in the paper [7].

REFERENCES

- [1] Agratini, O., Aproximare prin operatori liniari, Presa Universitară Clujeană, 2000 (Romanian)
- [2] Agratini, O., On the monotonicity of a sequence of Stancu-Bernstein type operators, Studia Univ. Babes-Bolyai, (1996), no. 2, 17-23
- [3] Bărbosu D., Bărbosu M., Some properties of the fundamental polynomials of Bernstein-Schurer, Bul. Științ., Univ. Baia Mare, Ser. B, Mat.-Inf., 18 (2002), nr. 2, 133-136
- [4] Kazim Khan, M., Della Vecchia, B. and Fassish, A., On the monotonicity of pozitive linear operators, Journal of Approximation Theory, 92 (1998), 22-37
- [5] Schurer, F., Linear pozitive operators in approximation theory, Math. Inst. Techn. Univ. Delft, Report,
- Stancu, D. D., Coman, Gh., Agratini, O. and Trîmbiţaş, R., Analiză numerică și teoria aproximării, Presa Universitară Clujeană, 2001 (Romanian)
- [7] Stancu, D. D., On the monotonicity of a sequence formed by the first order derivatives of the Bernstein polynomials, Math Zeitschr., 98 (1967), 46-51

UNIVERSITY OF BACĂU

DEPARTMENT OF MATHEMATICS AND INFORMATICS

SPIRU HARET 8, BACĂU, ROMANIA

E-mail address: muraru@ub.ro; carmen_7419@yahoo.com